


kg A AL mAe] @ we] Aol 4
olt}. /BHF = /x4 o, cosx 2] 4827 (,

BH+= ASHA Q] tiztddoltt) D
VB V6 i

® ? @ = ® =

@ ?8 ®1 C

SRR RS

N




3. thg 193 2o AB 2 AE0 g o4 w0 919 [ C o4 AB

wm%4wp1@%Dasu;am3:x,ﬁ5:§1§ﬁ:3%
o, cos x o] 327

C

T

(0]
A B
3
4 3 5 3 3

@ ¢ @ ® 2 O O



o 2T Zo] Aol Zo|7t 4 9l
AR o] gF H2]H O oA P ™
S0l Hhe [ 2 51, AB 9 23S M
ozt 5t2t. LOCH = x 2t & ], tan x 2]
727

D V2 @2v2  ®3V2
@ 3 ® 3v3




® 5



6. 2 I"HI 2 AABC 9 Y 0 oA /BOC = 120°, zOBC =46
o|H

A=)

cosf x cos A + sinf x sin A 2] g9

AV NV
@? @ V3 @?4’1
@?—1 ® V3+1



